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gl (2) Hidl 2udm I = 30 pA M2 8. d-dl i Q [igal, I = 4mA = 4 x 103A dasl Vg = 8V
BURSd gl (1) Hidl 2uBeye [Aseia w2,
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2AlAn, oraiol @ oll5l uR olelzHl ol »uldal #19l 2(@ e A, B, C a3l »is2 53 e {13 Yo «dl

A Ve - 12V
> R, R.=7.8KQ
D, | Ve
_| | &
B <] °C L .
D 20KQ § R,

GuAsd uRuepii A I =1mA, V=3 V,R;=7.8kQ, Vg = 0.5V, Vo =12V aa f =100 &la
dl Vi, Rg dial Ry, ehell.

(I+1y)
eV, =12V
3l I = 1 mA
p-C - 1™ hoima
Ig B 100
I = Iy + I =001 + 1 = 1.01 mA
olal YEuas,

Vee ~IeRe = Ve — IgRg = 0
w12 - (1 x 1073 x 7.8 x 10%) -3 - (1.01 x 103 R) = 0
1.2 = 0.00101 Rg
12

E ™ 0.00101
Sy uRuaHi,
Vg - Vge - IgRg + (20 x 109 I =V
s (20 x 109 T = Vg + IgRe
s {20 x 109 I = 0.5 + (1.01 x 1073) (1188.12)
L 20x 109 1= 1.7
L 1=85x%x105A
qul,
Vee -+ 1) Ry — Vg — IgRp = 0
oo+ 1) Ry = Ve — Vg — L Re
o 185 x 107°) + (1079} Ry = 12 — 0.5 — (1.01 x 107%) (1188.12)
o (9.5 x 107°) Ry = 10.3
« Ry = 1.084 x 10°Q

= 1188.12Q
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E B
——e Vi =0.5V
20KQ § R,= 1IKQ Vg =3V

GuAsd uRuanii B = 100, Vg = 0.5V, Vp =3 Vel dl R 20,
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w3l B =100 = I£ = Ic = Blg ...(1)

B
Yig o = B
1+PB
I 100
Y R
I 101
e =g =Bl .. (@)

silal WRuasi,

Vee ~ IoRe = Vg — IgRp = 0

w12 - (BIgR; ~ 3~ (Bl 1 x 103 =0
w9 = (Bl (R + 1000)

o 9= (10015 (R + 1000) ... (3)

gl

Vg - Vge - IgRg + (20 x 10%) 1 = Vg

o (20 x 10%) 1 = Vg + I Ry

. 200001 = 0.5 + Bl x (1 x 10%)

c 200001 = 0.5 + 1000 B I

c 200001 = 0.5 + 100000 I ... (4)

(o B = 100)
Rp %t R+l aadl oi wug =g,

Vee - T+ Ig) Ry - IR = 0

w12 = (1 + L) (100 x 10%) + (1) (20 x 10%)
- 12 = 120000 1 + 100000 I .. (5)
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5 9= (10015 (R + 1000) ... (3)
- gl
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